
A

A

1/4" npt Male Union

00.56.2473

00.56.2472

00.56.2472

SCREW CHc M3x12
SCREW FHc M3x8

HANDLE ALU 11-553-20-100

SCREW CHc M5x25

00.56.2477

00.56.2478

SCREW FHc M3x8

 159 

 84 
 120 

 2
32

 

 4
1,

25
 

 4
1,

25
 

 4
1,

25
 

 4
8 

 5
8,

25
 

C

C

B

B

00.56.2474

 355,20 

 288,70  17  30 

00.56.2464 00.56.2471

00.56.2482

MALE STUD FITTINGS Ø4 M5x0.8 3101-04-19
00.56.2477

COUPE A-A

MIXED BULKHEAD CONNECTOR Ø4 3146-04-00

COUPE C-C

00.56.2480

O'ring 9.52 x 1.78 R8 bis/iso

SCREW FHc M2.5x6

00.56.2476

00.56.2475

SCREW CHc M5x12

COUPE B-B

PIN  Ø3m6-16
SCREW CHc M4x20

SCREW CHc M3x8

SCREW CHc M3x30-18

ITEM DRAWING N. QTY DESCRIPTION / REMARKS MATERIAL W./Kg

25 4 SCREW CHc M5x12 A4-70
24 4 SCREW CHc M5x25 A4-70
23 10 SCREW CHc M4x20 A4-70
22 4 SCREW CHc M3x12 A4-70
21 28 SCREW FHc M3x8 A4-70
20 18 SCREW CHc M3x30-18 A4-70
19 3 SCREW CHc M3x8 A4-70
18 8 SCREW FHc M2.5x6 A4-70
17 8 PIN  Ø3m6-16
16 2 HANDLE ALU 11-553-20-100 EMILE MAURIN 0.
15 2 O'ring 9.52 x 1.78 R8 bis/iso LJF 0.
14 2 1/4" npt Male Union LEGRIS
13 1 MALE STUD FITTINGS Ø4 M5x0.8 3101-04-19 LEGRIS
12 1 MIXED BULKHEAD CONNECTOR Ø4 3146-04-00 LEGRIS

00.56.2482 1 POWER SUPPLY ASSY. ENAW-6082 0.1272
00.56.2480 2 COOLING LID ENAW-6082 0.001
00.56.2478 1 BACK PLATE ENAW-7022 T6 1.1122
00.56.2477 1 BASE PLATE ENAW-7022 T6 0.7592
00.56.2476 1 BACKPLATE LID ENAW-6082 T6 0.0919
00.56.2475 1 GROUND PLATE ENAW-6082 1.2282
00.56.2474 1 MYLAR FOIL HOLDER ENAW-6082 0.0802
00.56.2473 1 COVER ENAW-6082 0.1939
00.56.2472 2 HALF CAP ENAW-6082 T6 0.4115
00.56.2471 1 TUBE HOLDER ENAW-6082 T6 0.3241
00.56.2464 4 MODULE ASSY. ENAW-7022 T6 1.123

APPD.DRND.DATE A1 ES
RF

BEAMLINE GENERAL-DETECTORS
EIGER 2M PSI

GENERAL ASSY.

HEYMAN 15/12/14

 
00.56.2463Add 2 HANDLESA 24/02/15 HEYMAN

B 12/06/19 Heyman UPGRADE

 200

B

121 2 3 4 5 6 7 8 9 10 11

A

B

C

D

E

F

G

H H

G

F

E

D

C

B

A

1110987654321 12 SolidWorks
TEL. 04-76-88-20-00    FAX 04-76-88-20-20
BP 220 38043 GRENOBLE CEDEX-FRANCE

RADIATION FACILITY
EUROPEAN SYNCHROTRON

APPD.
CKD.
DRN.

DATENAME
0mm

ISO STANDARD

ASSY.

MOD DESCRIPTIONMOD DESCRIPTIONDATE DRND. APPD.

::GEN. TOL.  

 :GEN. SURFACE FINISH  

SCALE:1:2


	Feuille1
	Vue de mise en plan1
	Vue de mise en plan2
	Vue de mise en plan3
	Vue de mise en plan4
	Vue de mise en plan5
	Vue en coupe A-A
	Vue en coupe C-C
	Vue de mise en plan9
	Vue de mise en plan10
	Vue de mise en plan11
	Vue en coupe B-B
	Vue de mise en plan14


